73. Two long parallel wircs, cach carrying current I are separated from each other by
a distance L. The magnitude of the force per unit length exerted by one wire on
the other is given by
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What is the polarization of the following set of waves

E, = E cos(wt - kz)
E, = Epcos(wt — k2 + %)

() plane polarized

(R circularly polarized -
() elliptically polarized
(3 unpolarized

L

The average flux of the electromagnetic energy over a cycle for‘an electromagnetic
wave with electric field £ = E, cos kx coswt is given by

(A Elcos’kz
(B Zcos?kz

(€) zero

(B LecE2cos®kz
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